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QUESTION 1

A data architect needs to write the expression for a measure on a KPI to show the sales person with the 

highest sales. The sort order of the values of the fields is unknown. When two or more sales people have 

sold the same amount, the expression should return all of those sales people. 

Which expression should the data architect use? 

A. Concat(DISTINCT IF{Aggr{Rank{Sum(Sales),4),Salesperson)=1,Salesperson),\\' \\') 

B. FirstSortedValue{DISTINCT Salesperson,-Aggr{Sum(Sales),Salesperson)) 

C. Concat(DISTINCT IF{Aggr{Rank{Sum(Sales),1),Salesperson)=1, Salesperson) , \\' \\') 

D. FirstSortedValue {Salesperson, -Aggr (Sum{Sales), Salesperson)) 

Correct Answer: A 

 

QUESTION 2

A data architect needs to load large amounts of data from a database which is continuously updated New records are
added, and existing records get updated and deleted. Each record has a LastModified field All existing records are
exported into a QVD file. The data architect wants to load the records into Qlik Sense efficiently. Which steps should the
data architect take to meet these requirements? 

A. 1. Use a partial load to load new and updated data from the database. 

2. 

Load the existing data from the QVD without the updated rows that have just been loaded from the database.
Concatenate with the new and updated records. 

3. 

Use the Peek function to remove the deleted rows. 

B. 1. Load the new and updated data from the database 

2. 

Load the existing data from the QVD without the updated rows that have just been loaded from the database.
Concatenate with the new and updated records. 

3. 

Load all records from the key field from the database and use an Inner Join on the previous table. 

C. 1. Load the existing data from the QVD. 

2. 
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Load the new and updated data from the database without the rows that have just been loaded from the QVD.
Concatenate with data from the QVD. 

3. 

Load all records from the key field from the database and use an Inner Join on the previous table. 

D. 1. Load the existing data from the QVD. 

2. 

Load new and updated data from the database. Concatenate with the table loaded from the QVD. 

3. 

Create a separate table for the deleted rows and use a WHERE NOT EXISTS to remove these 

records. 

Correct Answer: A 

 

QUESTION 3

Refer to the exhibit. 
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A business analyst reports that the \\'CompanyAge\\' field does NOT display for users The data architect examines the
LOAD script and wants to place the breakpoint in the script to check the field name. Which line number should the data
architect use? 

A. 242 because field name appears in the output Panel of the debugger 

B. 251 because the field name appears in the Variable panel of the debugger 

C. 251 because the field name appears in the Qlik Log files 

D. 251 because the field name appears in the Output panel of the debugger 

Correct Answer: D 

 

QUESTION 4

A data architect needs to create an app that combines employee data from the Sales system and the Human Resources
(HR) system. These systems identify employees differently. Employees in the HR system are identified with an
alphanumeric key. Employees in the Sales system are identified using an integer key The Human Resources manager
creates a table which maps these keys to one another, called Associations. The resultant data model must meet the
following requirements: Associations must be valid The model must be optimized for performance The option must
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support multiple tables added from both systems now and in the future 

Which function should the data architect use to meet these requirements? 

A. APPLYMAP { \\'Associations\\' , EmployeeKey) AS EmployeeKey; 

B. MAP EmployeeKey USING Associations; 

C. RENAME FIELDS USING Associations; 

D. MapSubString(\\'Associations\\', EmployeeKey) AS EmployeeKey; 

Correct Answer: A 

 

QUESTION 5

A data architect is developing an app that will generate QVDs for multiple business analysts. The field naming
conventions on the source data are NOT business friendly. For every table loaded, multiple fields will require a name
change. An Excel file is maintained centrally that lists all source data field names and the appropriate names as they
should appear in the QVDs 

Which strategy should the data architect use to meet these requirements? 

A. Use the Rename function and a mapping load 

B. Create master items using business-friendly names 

C. Use the Alias function and a mapping load 

D. Load in the Excel file as a data island and use the Peek function 

Correct Answer: A 
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